

$$\Rightarrow e^2 + 2e \cos \frac{\alpha+\beta}{2} \cos \frac{\alpha-\beta}{2} + 2 \cos^2 \frac{\alpha-\beta}{2} - 1 = 0 \quad \text{--- (10)}$$

To get the equation of the director circle, we have to eliminate α and β from (10), (11), (12) and (13).

Thus from (10) and (11) we have

$$\frac{l}{r_1} = e \cos \theta_1 + \cos \frac{\alpha-\beta}{2}$$

$$\Rightarrow \cos \frac{\alpha-\beta}{2} = \frac{l}{r_1} - e \cos \theta_1$$

\therefore from (10) we have

$$e^2 + 2e \cos \theta_1 \left(\frac{l}{r_1} - e \cos \theta_1 \right) + 2 \left(\frac{l}{r_1} - e \cos \theta_1 \right)^2 - 1 = 0$$

$$\Rightarrow e^2 + 2 \frac{l}{r_1} e \cos \theta_1 - 2 e^2 \cos^2 \theta_1 + 2 \left(\frac{l^2}{r_1^2} - 2 \frac{l}{r_1} e \cos \theta_1 + e^2 \cos^2 \theta_1 \right) - 1 = 0$$

$$\Rightarrow e^2 + 2 \frac{l}{r_1} e \cos \theta_1 - 2 e^2 \cos^2 \theta_1 + 2 \frac{l^2}{r_1^2} - 4 \frac{l}{r_1} e \cos \theta_1 + 2 e^2 \cos^2 \theta_1 - 1 = 0$$

$$\Rightarrow \frac{2l^2}{r_1^2} - \frac{2l e \cos \theta_1}{r_1} + e^2 - 1 = 0$$

$$\Rightarrow r_1^2 (1 - e^2) + 2 l e r_1 \cos \theta_1 - 2 l^2 = 0$$

Hence the locus of (r_1, θ_1) is

$$r^2 (1 - e^2) + 2 l e r \cos \theta - 2 l^2 = 0$$

which is the required equation of director circle.

Dr. G. S. Kanto

Asst. Prof.

Dept. of Maths

NI RKJ

College, Mahara
(Bihar)

71. Find the equation of Director circle of the conic $\frac{x^2}{a^2} = 1 + e \cos \theta$

Solⁿ: The equations of the tangents at the pts. on the conic whose vectorial angles are α and β are

$$\frac{x}{a} = e \cos \alpha + r \cos(\theta - \alpha) \quad \text{--- (i)}$$

$$\text{and } \frac{x}{a} = e \cos \beta + r \cos(\theta - \beta) \quad \text{--- (ii)}$$

if these tangents intersect at the pt. (r_1, θ_1) we have

$$\frac{x}{r_1} = e \cos \alpha + \cos(\theta_1 - \alpha) \quad \text{--- (iii)}$$

$$\text{and } \frac{x}{r_1} = e \cos \beta + \cos(\theta_1 - \beta) \quad \text{--- (iv)}$$

Solving (iii) and (iv) we get

$$\Rightarrow \cos(\theta_1 - \alpha) = \cos(\theta_1 - \beta)$$

$$\Rightarrow \theta_1 - \alpha = -(\theta_1 - \beta) \quad (\because \theta \neq \beta)$$

$$\Rightarrow 2\theta_1 = \alpha + \beta$$

Transforming the equation of the tangent (i) to Cartesian Co-ordinates, we get

$$l = e r \cos \theta + r (\cos \theta \cos \alpha + \sin \theta \sin \alpha)$$

$$= (e + \cos \alpha) r \cos \theta + \sin \alpha \cdot r \sin \theta$$

$$= (e + \cos \alpha) x + y \sin \alpha \quad \text{--- (v)}$$

similarly (ii) is

$$l = (e + \cos \beta) x + y \sin \beta \quad \text{--- (vi)}$$

\therefore tangents are at right angles, we have from (v) and (vi)

$$(e + \cos \alpha)(e + \cos \beta) + \sin \alpha \cdot \sin \beta = 0$$

$$\Rightarrow e^2 + e(\cos \alpha + \cos \beta) + \sin \alpha \sin \beta = 0$$

$$\Rightarrow e^2 + e \cdot 2 \cos \frac{\alpha + \beta}{2} \cdot \cos \frac{\alpha - \beta}{2} + \cos(\alpha - \beta) = 0$$